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….when written in words, contains the same  

number of letters as its value suggests? 

The legendary Philosopher’s Stone transforms any metal into pure gold and  

produces a substance that makes the drinker immortal. The belief is that there is only 

one in existence, so when Harry made his statement the sense of shock was to be  

expected. 

‘There are two Philosopher’s Stones!’ he exclaimed. ‘The second one is owned 

by…’ The pause was quite deliberate. ‘Father Christmas!’  

Of course, how else had Santa stuck to his task for so long and afforded all his gifts? 

Apparently he bought the stone for a good price - 2512 Knuts. 

In Wizard money there are 29 Knuts to a Sickle and 17 Sickles to a Galleon.  

What is the least number of coins that Father Christmas could  have handed over 

when he bought his Philosopher’s Stone? 


